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R2 = 4 I r2 = 2 I R3 = 3 I r3 = 2 I m1 = 3 I m2 = 13 I
m3 = 13 I m4 = 12 I S = 41 I cosα = 0,8 J
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R2 = 5 I r2 = 3 I R3 = 3 I r3 = 2 I m1 = 3 I m2 = 12 I
m3 = 12 I m4 = 15 I S = 126 I cosα = 0,6 J
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R2 = 3 I r2 = 2 I m1 = 10 I m2 = 13 I m3 = 6 I
m4 = 13 I S = 42 I cosα = 0,8 J
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R2 = 3 I r2 = 2 I m1 = 15 I m2 = 10 I m3 = 2 I
m4 = 13 I S = 40 I cosα = 0,8 I β = π/3 J
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R2 = 4 I r2 = 3 I m1 = 12 I m2 = 6 I m3 = 26 I
m4 = 12 I S = 86 J
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R2 = 4 I r2 = 2 I m1 = 8 I m2 = 13 I m3 = 10 I
m4 = 12 I S = 43 J
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R2 = 4 I r2 = 2 I R3 = 3 I r3 = 2 I m1 = 3 I m2 = 13 I
m3 = 10 I m4 = 15 I S = 82 I cosα = 0,8 J
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R2 = 4 I r2 = 2 I m1 = 2 I m2 = 12 I m3 = 13 I
m4 = 15 I S = 126 J
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R1 = 4 I r1 = 2 I R2 = 4 I r2 = 2 I R3 = 4 I r3 = 2 I
m1 = 12 I m2 = 12 I m3 = 13 I m4 = 15 I S = 104 I
α = π/3 J
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R2 = 5 I r2 = 3 I m1 = 15 I m2 = 8 I m3 = 26 I
m4 = 12 I S = 192 J
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R1 = 4 I r1 = 2 I R2 = 4 I r2 = 3 I R3 = 4 I r3 = 3 I
m1 = 5 I m2 = 12 I m3 = 12 I m4 = 10 I S = 78 I
cosα = 0,6 J
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R1 = 4 I r1 = 2 I R2 = 4 I r2 = 3 I m1 = 18 I m2 = 12 I
m3 = 4 I m4 = 10 I S = 132 I α = π/3 I β = π/3 J
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R2 = 4 I r2 = 3 I m1 = 3 I m2 = 10 I m3 = 15 I
m4 = 13 I S = 41 J
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R2 = 4 I r2 = 3 I m1 = 2 I m2 = 12 I m3 = 2 I
m4 = 10 I S = 52 I α = π/3 J
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R2 = 4 I r2 = 3 I m1 = 6 I m2 = 15 I m3 = 15 I
m4 = 10 I S = 184 J
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R2 = 4 I r2 = 2 I m1 = 10 I m2 = 4 I m3 = 26 I
m4 = 15 I S = 84 J
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R2 = 5 I r2 = 3 I m1 = 4 I m2 = 12 I m3 = 3 I
m4 = 12 I S = 124 I α = π/3 J
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R1 = 4 I r1 = 3 I R2 = 4 I r2 = 2 I m1 = 35 I m2 = 13 I
m3 = 6 I m4 = 15 I S = 138 I cosα = 0,6 I β = π/3 J
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R2 = 3 I r2 = 2 I m1 = 5 I m2 = 15 I m3 = 4 I
m4 = 13 I S = 148 I cosα = 0,6 J
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R2 = 3 I r2 = 2 I m1 = 13 I m2 = 10 I m3 = 24 I
m4 = 15 I S = 100 J
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R2 = 4 I r2 = 3 I R3 = 5 I r3 = 3 I m1 = 45 I m2 = 15 I
m3 = 12 I m4 = 13 I S = 255 I cosα = 0,8 J
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R2 = 3 I r2 = 2 I m1 = 10 I m2 = 10 I m3 = 4 I
m4 = 13 I S = 74 I cosα = 0,8 J
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R1 = 4 I r1 = 2 I R2 = 4 I r2 = 2 I m1 = 2 I m2 = 15 I
m3 = 8 I m4 = 15 I S = 120 I α = π/3 I β = π/3 J
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R2 = 3 I r2 = 2 I m1 = 4 I m2 = 10 I m3 = 13 I
m4 = 10 I S = 74 J
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R2 = 4 I r2 = 3 I m1 = 5 I m2 = 13 I m3 = 8 I
m4 = 10 I S = 36 I cosα = 0,6 J


